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DELHI CIRCLE-PA/SA EXAM -2022 
 
(1.) Section-X of Post Office Guide Part-II deals with 

(A.) Prohibitions and Restrictions (B.) Enquiries and Complaints 
(C.) Customs Control (D.) None of these 

(2.) Section-IX of Post Office Guide Part-II deals with 
(A.) Prohibitions and Restrictions (B.) Enquiries and Complaints 
(C.) Customs Control (D.) None of these 

(3.) UPU stands for 
(A.) University Postal Union (B.) Universal Postal Union 
(C.) Undefined Private Union (D.) Universal Private Union 

(4.) APPU stands for 
(A.) Asian Pacific Postal Union (B.) Asian Present Postal Union 
(C.) American Pacific Postal Union (D.) American Present Postal Union 

(5.) Section-VIII of Post Office Guide Part-II deals with 
(A.) V.P & COD Services (B.) Enquiries and Complaints 
(C.) Customs Control (D.) None of these 

(6.) Section-V of Post Office Guide Part-II deals with 
(A.) V.P & COD Services (B.) Parcel Post 
(C.) Customs Control (D.) None of these 

(7.) If any dispute arises relating to license of Bulk bag system license of Bulk Bag System in respect of 
Foreign Post, the matter should be referred to whose decision thereon shall be final. 

(A.) Divisional Superintendent (B.) Director Postal Services 
(C.) Head of the Circle (D.) Director General of Posts 

(8.) Who can issue the Order for suspension of the issue of the Money Order in respect of any particular 
post office or group of post offices? 

(A.) Head of the Circle (B.) Director General of Posts 
(C.) Superintendent of Post Office (D.) All of the above 

(9.) (i) Convention of APPU is binding all the member countries 
(ii) Exchange of items other than letter post are governed by relevant agreements of UPU 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(10.) (i) Convention of APPU is binding all the member countries 
(ii) Exchange of items other than letter post are governed by relevant agreements of UPU 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(11.) What is the enquiry fee for complaints regarding foreign registered letter with advice of delivery? 
(A.) Prescribed fee should be paid (B.) No enquiry fee is necessary 
(C.) Fee equal to advice of delivery (D.) None of these 

(12.) Under IT Modernization Project, Post Offices have been interconnected using which type of networks 
(A.) Wide Area Network (WAN)   (B.) Metropolitan Area Network (MAN) 
(C.) Wireless Local Area Network (WLAN) (D.) Personal Area Network (PAN) 
(13.) IT Modernization Project of Department of Posts had how many Segments? 

(A.) 06 (B.) 08 (C.) 10 (D.) 04 
(14.) Expand DCF in terms of IT Modernization Project 

(A.) Disaster Centre Facility (B.) Date Centre Facilitation 



www.vvacademy.com        Free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    9985525552 

 
 

  
V V ACADEMY POSTAL GDS/PM/MTS TO PA/SA EXAM PREVIOUS PAPERS 35 

 

(C.) Date Centre Facility (D.) Data Control Fitment 
(15.) DARPAN' stands for 
(A.) Digital Achievement of Rural Post Office for A New India 
(B.) Digital Application of Rural Post Office for A New India 
(C.) Both (A) & (B) 
(D.) None of the above 
(16.) Vendor for Network Integrator Project under IT Modernization Project is 

(A.) Tata Consultancy Services (B.) Reliance Consultancy Services 
(C.) Infosys Technologies Limited (D.) None of the above 

(17.) The segment of IT Modernization Project which provides hardware to Mail Offices and handheld 
devices to Postmen is called as 

(A.) Rural Hardware (B.) Rural System Integrator 
(C.) Core System Integrator (D.) Mail Operations Hardware 

(18.) ECMS' under IT Modernization Project stands for? 
(A.) Enterprise Computer Management System (B.) Enterprise Content Management System 
(C.) Enterprise Content Monitoring System (D.) Enterprise Computer Monitoring System 
(19.) Which committee approved the IT Modernization Project of the Department? 
(A.) Cabinet Committee on Economic Affairs (B.) Cabinet Committee on Parliamentary Affairs 
(C.) Cabinet Committee on Accommodation (D.) Cabinet Committee on Security 
(20.) Anti-virus being used in the Department under IT Modernization Project 

(A.) Quick Heal (B.) Mc Café 
(C.) Symantec (D.) None of the above 

(21.) i) RD Account can be closed prematurely after 3 years from the date of account opening by submitting 
prescribed application form at concerned Post Office.  
ii) PO Savings Account interest rate will be applicable if the RD account is closed prematurely even one day 
before maturity.  

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct  (D.) Both (i) & (ii) are incorrect 

(22.) Interest on loan on RD will be applicable as 
(A.) 1% + RD interest rate applicable to the RD account 
(B.) 2% + RD interest rate applicable to the RD account 
(C.) 3% + RD interest rate applicable to the RD account 
(D.) None of the above 
(23.) What is the maximum limit in case of Endowment Assurance (Santosh) under PLI? 

(A.) 10Lakh (B.) 20Lakh (C.) 30Lakh (D.) 50Lakh 
(24.) What is the minimum sum assured in case of Whole Life Assurance (Surakhsha) under PLI? 

(A.) Rs. 20000 (B.) Rs. 30000 (C.) Rs. 40000 (D.) Rs. 50000 
(25.) What is the minimum sum assured in case of Joint Life Assurance (Yugal Suraksha) under PLI? 

(A.) Rs. 10000 (B.) Rs. 20000 (C.) Rs. 30000 (D.) Rs. 40000 
(26.) What is the maximum sum assured in case of Children Policy under PLI? 

(A.) Rs. 20000 (B.) Rs. 30000 (C.) Rs. 40000 (D.) Rs. 50000 
(27.) There is a maximum limit of ……………USD in western union that can be sent at a time as per 
applicable RBI regulations which must however be only for personal use 

(A.) 2,000 (B.) 3,000 (C.) 2,500 (D.) 3,500 
(28.) Expand PMJBY 
(A.) Pradhan Mntri Jeevan Joti Bima Yojna   (B.) Pradhan Mntri Jan Joti Bima Yojna  
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(C.) Pradhan Mntri Jan Jeevan Joti Yojna   (D.) Pradhan Mntri Jeevan Joti Bima Yojna  
(29.) The age of the subscriber underAtal Pension Yojna should be between 

(A.) 18-40 Years (B.) 21-55 Years 
(C.) 18-70 Years (D.) None of the above 

(30.) The maximum number of transactions which a single beneficiary can receive in a calendar year 
through the International Money Transfer Service is 

(A.) 12 (B.) 24 (C.) 30 (D.) 36 
(31.) (i) No person not belonging to the Department may be permitted to examine the records of any post 
office. 
(ii) Information of a purely statistical character may be furnished to the District Magistrate or Collector on his 
application. 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(32.) Rule-11 of Postal Manual Volume VI-Part-III deals with: 
(A.) Provision of Funds for Sub Offices 
(B.) Disposal of Surplus Funds at Sub Offices 
(C.) Manner of exchanging remittances between sub offices 
(D.) Unnecessary remittances of Cash 
(33.) As per SB Order 01/2021, Fee for issue of duplicate passbook is: 

(A.) Rs. 20 + GST (B.) Rs. 50 + GST 
(C.) Rs. 80 + GST (D.) Rs. 100 + GST 

(34.) As per SB Order 01/2021, Fee for transfer of account is 
(A.) Rs. 20 + GST (B.) Rs. 50 + GST 
(C.) Rs. 80 + GST (D.) Rs. 100 + GST 

(35.) (i) Attendance register in form S-37 is maintained in every post office having more than one check. 
(ii) In the case of staff on split duty, attendance will be marked twice in the register 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(36.) (i) Every Sorting Assistant in RMS will be supplied with a copy of the sorting list of the Mail Office to 
which he is attached 
(ii) And will be required to grant a receipt for it 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(37.) Under Foreign Post Manual, following are punishable offences under the law: 
(A.) Counterfeiting of Postage Stamps (B.) The fraudulent use of genuine postal identity cards 
(C.) Both (A) and (B)   (D.) None of the above 
(38.) Except on the authority of the …………..a mail office may not: 
1.) Redirect any article or 
2.) Intercept or deliver any article to the addressee 
(A.) Director General or the Head of the Circle  (B.) Director Postal Services 
(C.) Senior Superintendent of Post Offices  (D.) Senior Superintendent of RMS 
(39.) Acts of the Union' are given under which Rule of Chapter-1 of Foreign Post Manual? 

(A.) Rule-1 (B.) Rule-2 (C.) Rule-3 (D.) Rule-4 
(40.) As per Postal Manual Volume-VII, All circulars issued by Head of Circles should be destroyed after 
……. years 

(A.) 1 year (B.) 2 years (C.) 3 years (D.) 4 years 
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(41.) Desirability of prepayment of postage' given under which Clause of Post Office Guide Part 
(A.) Clause-8 (B.) Clause-9 (C.) Clause-10 (D.) Clause-11 

(42.) (i) The Post Office normally refund the value of unused items of postage stamps or stationery or 
exchange them. 
(ii) Articles addressed to deceased persons are never dealt with in the same manner as unclaimed articles. 

(A.) Only (i) is correct (B.) Only (ii) is correct 
(C.) Both (i) & (ii) are correct (D.) Both (i) & (ii) are incorrect 

(43.) Section-l Clause-I of Post Office Guide Part-Ideals with  
(A.) Control (B.) Type of Post Offices 
(C.) Official Postal Articles (D.) None of these 

(44.) Mobile Post Offices are given under which Clause of Post Office Guide Part-I 
(A.) Clause-1 (B.) Clause-2 (C.) Clause-3 (D.) Clause-4 

(45.) Clause of PO Guide Part-I governing particulars to be furnished for 'Method of addressing' 
(A.) Clause-23 (B.) Clause-26 (C.) Clause-29 (D.) Clause-30 

(46.) What is the maximum weight of a book packet containing periodicals? 
(A.) Not more than 5 KG (B.) Not more than 2 KG 
(C.) Not more than 7 KG (D.) Not more than 10 KG 

(47.) Instruction for change of address is valid for? 
(A.) Three months (B.) Six months 
(C.) Three years (D.) None of these 

(48.) Type of Offices are given under which Clause of Post Office Guide Part-l:- 
(A.) Clause-1 (B.) Clause-2 (C.) Clause-3 (D.) Clause-4 

(49.) What is the maximum weight of a Blind Literature Packet? 
(A.) Not more than 5 KG (B.) Not more than 2 KG 
(C.) Not more than 7 KG (D.) . Not more than 10 KG 

(50.) What is the rent for Post Box and Post Bag (both) when taken together in a financial year? 
(A.) Rs. 150 (B.) Rs. 250 (C.) Rs. 350 (D.) Rs. 450 

(51.) Evaluate: 3+6x (5+4)÷3-7 
(A.) 0 (B.) 8 (C.) 14 (D.) 28 

(52.) Evaluate 55÷11+ (18-6) x9 
(A.) 113 (B.) 100 (C.) 80 (D.) 110 

(53.) 5+5 x 5/5-5= 
(A.) 1 (B.) 25 (C.) 5 (D.) 0 

(54.) 1.14 expressed as a percent of 1.9 is: 
(A.) 6% (B.) 10% (C.) 60% (D.) 90 

(55.) In an examination 80% candidates passed in English and 85% candidates passed in mathematics. If 
73% candidates passed in both these subjects, then what percent of candidates failed in both the subjects? 

(A.) 8% (B.) 15% (C.) 27% (D.) 35% 
(56.) The population of a town increases every year by 4%. If its present population is 50,000, then after 2 
years it will be? 

(A.) 53,900 (B.) 54,000 (C.) 54,080 (D.) 54,900 
(57.) A person bought a certain quantity of rice at the rate of Rs 150/- per quintal. 10% of the rice was 
spoiled. At what rate (per quintal) should he sell the remaining rice to earn 20% profit? 

(A.) Rs. 180 (B.) Rs. 200 (C.) Rs. 210 (D.) Rs. 220 
(58.) A trader sells his goods at a discount of 20%. He still makes a profit of 25%. If he sells the goods at 
the marked price only, then his profit will be? 
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(A.) 56.25% (B.) 25.56% (C.) 50.25% (D.) 54.25% 
(59.) By selling a bicycle for Rs. 2,850, a shopkeeper gains 14%. If the profit is reduced to 8%, then the 
selling price will be? 

(A.) 2700 (B.) 2800 (C.) 2900 (D.) 3000 
(60.) Raghav borrowed some money from his friend at simple interest of 6% per annum. He returned his 
friend Rs. 15600. After how much time did Raghav return the money if he borrowed Rs. 12000? 

(A.) 8 years (B.) 2.5 years (C.) 5 years (D.) 3.5 years 
(61.) What is the simple interest on Rs. 32,000 at 8.5% per annum for period from 10.02.2019 to 
24.04.2019? 

(A.) Rs. 550 (B.) Rs. 555 (C.) Rs. 544 (D.) Rs. 540 
(62.) Rohit distributed sum of Rs. 50,000 to his friend and his aunty at 5% and 5% for 6 years and 4 years 
respectively. In the end Rohit got same amount from his friend and his aunty. Find the amount borrowed by 
friend and his aunty? 

(A.) Rs. 22,000 & Rs. 28,000 (B.) Rs. 24,000 & Rs. 26,000 
(C.) Rs. 32,000 & Rs. 18,000 (D.) Rs. 30,000 & Rs. 20,000 

(63.) The average age of a group of men increased by 5 years when a person aged of 18 years is replaced by 
a new person of aged 38 years. How many men are there in the group? 

(A.) 3 (B.) 4 (C.) 5 (D.) 6 
(64.) A has 50 coins of 10paise denominations. While B has 10 coins of 50 paise denominations. C has 20 
coins of 25 paise denominations while D has 25 coins of 20 paise denominations. The average paisa per 
person is: 

(A.) 450paise  (B.) 500paise (C.) 550paise (D.) 600paise 
(65.) The average age of 20 students is 12 years, if the teacher's age is included, averageage increases by 1. 
The age of the teacher is: 

(A.) 30 years (B.) 33 years (C.) 28 years (D.) 35 years 
(66.) 10 workers can make 15 boxes in 6 days, how many boxes will 12 workers make in 3 days 

(A.) 10 (B.) 9 (C.) 6 (D.) 3 
(67.) 23 envelopes cost Rs 57.50. How many envelopes can be bought for Rs127.50? 

(A.) 55 (B.) 56 (C.) 51 (D.) 53 
(68.) Two buses starts from a bus terminal with a speed of 20 km/hr at interval of 10 minutes. What is the 
speed of a man coming from the opposite direction towards the bus terminal if he meets the buses at interval 
of 8 minutes? 

(A.) 3 KM/HR (B.) 4 KM/HR (C.) 5 KM/HR (D.) 6 KM/HR 
(69.) Two trains for Mumbai leave Delhi at 6:00 A.M and 6.45 A.M and travel at 100 KM/HR and 136 
KM/HR respectively. How many kilometers from Delhi will the two trains be together? 

(A.) 262.4 KM (B.) 260 KM (C.) 283.33 KM (D.) 275 KM 
(70.) A person works on a project and completes 5/8 of the job in 10 days. At this rate, how many more 
days will he it takes to finish the job? 

(A.) 10 (B.) 15 
(C.) 20 (D.) None of the above 

(71.) Introducing lady, a man said, 'Her mother is the only daughter of my mother-in-law'. What is the 
relation to the lady? 

(A.) Son (B.) Father (C.) Uncle (D.) Husband 
(72.) Look at this series 625, 676, 729, 784,____.What number should come next? 

(A.) 799 (B.) 841 (C.) 891 (D.) 921 
(73.) Find the number of triangles in the giver figure 
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(A.) 5 (B.) 6 (C.) 8 (D.) 10 

(74.) Sponge is to porous as rubber is to 
(A.) Massive (B.) Solid (C.) Elastic (D.) Inflexible 

(75.) ELFA, GLHA, ILJA,_____ MLNA 
(A.) OLPA (B.) KLMA (C.) LLMA (D.) KLLA 

(76.) X' is the son of 'Y', 'Y' is the wife of 'Z', W is the father of 'Z'. Then 'Y' will be ……. of 'W' 
(A.) Sister in law (B.) Father in law 
(C.) Brother in law (D.) Daughter in law 

(77.) Jay introduces Rushi as the husband of the only granddaughter of his mother. Jay has no siblings. How 
Rushi is related to Jay. 

(A.) Father in law (B.) Father 
(C.) Son in law (D.) Son 

(78.) Find the number of triangles in the given figure 

 
(A.) 12 (B.) 18 (C.) 22 (D.) 26 

(79.) Find the number of triangles in the given figure 

 
(A.) 12 (B.) 13 (C.) 14 (D.) 15 

(80.) Find the odd numbers from the given alternatives 
(A.) 626 (B.) 841 (C.) 962 (D.) 1090 

(81.) Find the odd word from the given alternatives 
(A.) PQXZ (B.) CQBN (C.) ABDF (D.) PRMN 

(82.) What will come at the place of question mark? 
8, 28, 116, 584,? 

(A.) 1752 (B.) 3504 (C.) 3508 (D.) 3502 
(83.) What will come at the place of question mark? 
3, 7, 23, 95, ? 

(A.) 62 (B.) 128 (C.) 479 (D.) 575 
(84.) What will come at the place of question mark? 
34, 45, 56, 67,? 

(A.) 78 (B.) 73 (C.) 82 (D.) 84 
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(85.) Which of the following set of letters complete the letter series, when sequentially placed at the gaps? 
bca_b_aabc – a _ caa 

(A.) Ccab (B.) Bcbb (C.) Acab (D.) Cbab 
(86.) Find the number of triangles in the given figure? 

 
(A.) 8 (B.) 10 (C.) 12 (D.) 14 

(87.) Find the number of triangles in the given figure? 

 
(A.) 18 (B.) 20 (C.) 24 (D.) 27 

(88.) Find the number of triangles in the given figure? 

 
(A.) 16 (B.) 13 (C.) 9 (D.) 7 

(89.) Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure (X). 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(90.) Pointing to a man in a photograph, a woman said, "His brother’s father is the only son of my 
grandfather". How is the woman related to the man in the photograph? 

(A.) Sister (B.) Aunt 
(C.) Grandmother (D.) Daughter 

(91.) Which is the longest National Highway in India? 
(A.) NH-44 (B.) NH-1 (C.) NH-2 (D.) NH-10 

(92.) The Jakham Dam is located in which state? 
(A.) Madhya Pradesh (B.) Gujarat 
(C.) Rajasthan (D.) Uttar Pradesh 

(93.) The accounts of which of the following are not audited by CAG? 
(A.) Municipal Institutions (B.) Central Government 



www.vvacademy.com        Free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    9985525552 

 
 

  
V V ACADEMY POSTAL GDS/PM/MTS TO PA/SA EXAM PREVIOUS PAPERS 41 

 

(C.) State Government (D.) Government Companies 
(94.) Who has been given the power to enforce the Fundamental Rights by the Constitution of India? 

(A.) Parliament (B.) President 
(C.) Prime Minister (D.) Supreme Court 

(95.) Electric bulb filament is made of? 
(A.) Copper (B.) Aluminium (C.) Lead (D.) Tungsten 

(96.) In which city, new centre of National Horticulture Board (NHB) has been recently inaugurated? 
(A.) New Delhi (B.) Rohtak (C.) Ranchi (D.) Gwalior 

(97.) Who among the following were the first to establish 'Printing Press' in India? 
(A.) British (B.) Portuguese (C.) Dutch (D.) French 

(98.) Under which among the following acts, Civil Services started in India? 
(A.) Charter Act 1813 (B.) Charter Act 1833 
(C.) Charter Act 1843 (D.) Charter Act 1823 

(99.) Strong …………………..means you have a high sense of moral and ethical behavior that earns respect 
of others. 

(A.) Honesty (B.) Character (C.) Integrity (D.) Citric Acid 
(100.) ……………. is essential at work because you must be able to work with others, especially if you don't 
always agree with them. 

(A.) Communication (B.) Co-operation 
(C.) Honesty (D.) Integrity 
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